Whole Number Worksheet
P6 Mathematics SA2 2015

P6 Math SA2 papers of NPS, RGPS
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For each question, four options are given. One of them is the correct answer.
Make your choice (1,2,3 or 4).

1. The value of the digit 5 in 657 841 is

(1) 500

(2) 5000

(3) 50 000

(4) 500 000 ( )
2. What is the missing number in place of the question mark?

8 15
24 7 ?

(1) 18

(2) 30

(3) 40

(4) 48 ( )
3. A number becomes 50 000 when rounded off to the nearest thousand.

Which one of the following could the number be?

(1) 49 187

(2) 49 783

(3) 50978

(4) 51879 ( )
4, Mr Seah owns a farm in Lim Chu Kang. In hs farm, 30 chickens can lay 63 eggs in 7 days on

average. How many eggs will he expect 10 chickens to lay in 10 days on average?

(1) 9

(2) 11

(3) 30

(4) 33 ( )
5. Which one of the following numbers is greater than 320 tens?

(1) 32

(2) 320

(3) 3200

(4) 32000 ( )
6. Subtract 97 from the sum of 658 and 143.

(1) 612

(2) 702

(3) 704

(4) 898 ( )
7. How many common factors are there in 16 and 24?

(1) 12

(2) 14

(3) 3

4) 4 ( )
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Werite your answers in the spaces provided. For questions which require units, give your answers in the
units stated.

8. Arrange the following number from the smallest to the largest.
84326 , 83264 , 86432 , 86342

Ans:

9. Tina had 22 shelves with equal number of books on each shelf. She removed all the books from
12 of the shelves and placed them equally onto the remaining shelves. She found that these
remaining shelves had 42 more books each. How many books were on each shelf at first?

Ans:
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10. Find the value of 26 x 108

Ans:
11. Bala is 7n years old now. In 20 years’ time, Bala will be 3 times as old as Ali. Find Ali’s age in 20
years’ time.
Ans:
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Answer Key

Verified by www.sgtestpaper.com

Subject: Primary 6 Maths — Whole Numbers
Paper: SA2 2015

Q1 Q2 Q3 Q4 Q5 Q6 Q7
3 3 2 3 4 3 4
8. 83 264, 84 326,86 342, 86 432
9. 35->22-12=10,10x42 =420,420 +12 =35
10. 2808 -> 26 X 108 = 2808
11. (7n+20)/3
References:

(Q1,2,3,4,8,9)= RGPS (Q1,2,6,15,16,30)
(Q5,6,7,10,11)= NPS (Q1,2,3,16,30)
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